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   
 

             

               



          

        

             

        

       

2, 4, 6, 8 can all be to the left.
The deciding number's on the farthest right

So 24,681 is an odd number because of the one
86,425 is an odd number because of the five
42,683 is an odd number because of the three
68,429 is an odd number because of the nine

And so it goes on forever and ever.
We look to the number that is on the right
So let's sing our song again and again and we'll remember
'Cause odd numbers are 1, 3, 5, 7, 9

             

               


